HERA : FAEZIVER
HER:SH245H288

&2 AEBH A=
Tm 50cm Ocm

1 BEMRY L-F5° D 0.074 0.088 0.096
2 BRERRIL-F9D 0.096 0.096 0.136
3 BRERRIL-FUIQ 0.086 0.094 0.094
4 RERITL—FY 0.100 0.102 0.074
5 WEERREL 0.084 0.100 0.102
6 BYBETIL-FU7 0.078 0.068 0.074
7 EEZBEIL-FUY 0.078 0.090 0.080
8 AEEERIVL-FUI 0.082 0.072 0.092
9 AKEEEREL 0.064 0.074 0.118
10 |IEmEEIE 0.092 0.090 0.116
1 |BEERIL-F9O 0.094 0.104 0.112
12 |BREBRIL-FU9Q 0.094 0.094 0.080
13 |REMMEIL-FU7Q 0.094 0.096 0.088

&XE 0.100 0.104 0.136

=/ME 0.064 0.068 0.074

FHiE 0.086 0.090 0.097




